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INSTRUCTIONS

1. This question paper should be opened only after receiving the instruction from the examination hall invigilator.

2. This question paper contains 30 questions in Part A (General Knowledge) and 140 questions in Part B (Psychology, Law and
Police Related Subjects).

3. Answer all the questions.

4. Each correct answer has half a mark.

5. Write the Enrolment No. and SI. No. of the OMR answer sheet at the appropriate place in the front page of the question paper.

6. The type of question booklet series and the correct answers to the questions (A, B, C or D) should be shaded in the relevant circles
using blue or black ball point pen. The answer sheet without shading the type of question booklet series will not be evaluated.

7. For each question only one answer is to be chosen and shaded.

8. For wrong, multiple and improper shading in answer sheets, no marks will be given for that answer.

9. Ifthere is any printing error, or error in Page No. in the question paper, the same should be brought to the notice of the invigilator
immediately and obtained a new question paper before the commencement of written examination.

10. All the questions are bilingual except language questions (English & Tamil).
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PART - A : General Knowledge

Who painted the Madonna’s picture ?

(A) Michelangelo

(B) Raphael

(C) Leonardo da Vinci

(D) Petrarch

@L_reitewm ASFrSenss S 1gweui wri ?
(A) esCsev erEpFrGevm

(B) 50%CGLisd A
(C) SwreriGLm Lm o6& g@
(D) Qui _gmis

. Find out the wrong pair.

(A) Pulicat Lake — Andhra Pradesh and Tamil Nadu

(B) Vembanad Lake — Kerala
(C) Chilka Lake — Odisha
(D) Sambhar Lake — Madhya Pradesh

SAUDTGT (3)eHERTENILI FHGHTL_ 15

(A) yedam' gl — @ 19Cseib wHmid SLOPHIE

(B) Geaubuupn® el — Gasgerm
(C) Qeovam afl — gLyapr
(D) gmbumt gf — wg@wl 9gGssLb

. Urea is produced in the part of our body.
(A) Nephron
(B) Kidney —
(C) Spleen Bl
(D) Liver

BLb 2.t 68led wilwm o Heum@Lol_Lb
(A) Qs pIT@ped

(B) @mubosib

(C) weventye

(D) seveSgev
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4. Match the following.

I) Rig a) Charms and magical spells
1) Yajur b) Oldest
I1I) Sama ¢) Rituals and hymns
IV) Atharva d) Musical notes
I I I Iv
(A)a b ¢ d
B)d-& B =&
(C)b e d =
M)ec b a d
CmbS515.
) A& a) Lomu HST STeVEISET
IT) wegori b) wupenLowITETS)
III) &mwo C) FLBIGHGT, LIML_ GVHGIT
IV) <ysieu d) @ewsim _svaser
I II IIm 1v
(A) a b ¢ d _
B)d ¢ b a ’é‘gﬁ
©b ¢ d a I8
M)c b a d
5. StatementI : The Constitution of India recognises twenty-two languages as official
languages.
Statement II : The Government of India has declared “Tamil” as the first Classical
Language.
(A) I only correct (B) II only correct
(C) Iand II correct (D) Iand II wrong

aurs@uwibl : @QBHw yufweveinliL)F s e Ly 22 Qmfser aaes
Oumflsemms oESsNss UL Hereng).
ums&Suib I : @BGw pared (1psed ClFbGlmpfluns “slp Clompl”

WlaNGs L’ L g).
(A) I @b &M (B) 1l o @b &M I
(©) I wpmub 11 &M (D) I wppub I seugy B
6. The International Court of Justice was set up in
(A) Finland (B) The Hague
(C) Poland (D) Geneva
ueterTL (B BHoepLb YeoLodsLil L @) tb
(A) Aeirevnbg (B) & Gans

(C) Gumevigy (D) Glggasfleum
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Statement I : In India the first census was carried out in the year 1872.

Statement II : The age composition of population refers to the number of people in different
age groups in a country.

(A) Ionly correct (B) II only correct

(C) Iand II correct (D) Iand II wrong

oungGuwib 1 : @BBwraile g6 woser Csnamas sansCls®LIL) 1872 gyt 2y,6wm®H
GopGlsmerariLiL L g).

aumsGub Il euwgdsewenal e1aLg @@ BT 96T Wwoser CFrarsuiicy o 6rer
ueGoumy auwg) ialleri erenreniidamsamuw @mlsSns).

(A) 1w @b &M (B) 11 tor"_(p)tb &M
(©) 1 odmyeb 1T &M (D) I opayh 11 euny @&ﬁ
=
. Which two planets only have backward rotation (East to West) ?
(A) Venus and Earth (B) Mercury and Jupiter
(C) Mars and Jupiter (D) Venus and Uranus
o165 @) Csmeirssr L @b LNGSTLDLOTS Fipewddalyws) ? (Bipsd®alwps)-CLopa)
(A) Geusiraf opmyd Lja (B) ygeir wopmyib awmpes
(C) Ossiuaumis opmpyib awimpast (D) Gleueraf opmib wjGrewren

. Which of the following isotope is used for determining the age of fossil wood or animal ?

(A) Carbon—12 (B) Carbon - 14 (C) Sodium—24 (D) Cobalt— 60

BrpdsaiL 61hs @CGsmGL LY Leng L1196 DIEISET 2J6vevg] allevniEseNeT awens

Sinesiléss LwesTLRS DS

(A) smiuer—12 (B) smiuer— 14 (C) Gsmguwib —24 (D) Gsmumevr” — 60
region is the famous for the match box industry. %

(A) Ranipet (B) Vellore (C) Sivakasi (D) Erode @

BUC" 1y 2 pLISS Csmpfperemeuuied LspOLbD aleTiiGasg)  LIGSwnstb.

(A) grenflGLient_(B) Gougyyit (©C) Pousns) (D) #Gur®

Statement I : Babur defeated Ibrahim Lodi in the famous Battle of Panipat and occupied

Delhi and Agra.
Statement IT : Mughal dynasty came to be established in India with Delhi as its capital.

(A) Ionly correct (B) II only correct
(C) I andII correct (D) I'and II wrong

&b I wpgevmb Lt Gumiley Lmui @)Uign&ib Covmgeows Csmpsiyss)
Osvellenwiuyib DpsameeuLLd ensLiLIHBleTT.

ursGuib I1:  pasewmu aubss@er '8 L vallewwsd FSopsITsd: Csmre()

SIUBIGH WG,
(A) Il B &M (B) II or”_ (b &
(C) I opmyib 11 &M (D) I opmyeb 11 seumy




12.

13.

14.

15.

16.

Match the following.
i) Steve Jobs a) Tesla
ii) Mark Zuckerberg  b) Apple
iii) Bill Gates ¢) Microsoft
iv) Elon Musk d) Facebook
(A) b,d,c,a (B) b,d,a,c Q) ¢'ab,d (D) a,b,c,d
Lereupeuataupenn OlLIT(ES5I%5.
i) eviess grliev a) Gl_aver e
ii) Lomid gg9dsi Guis b) gyider s
iii) (9e0CsL v c) @LdCrmameoLiL
V) 6T6V&T LoV d) wpsmred
(A) b,d,c,a (B) b,d,a,c (C) ¢.a. bid (D) a,b,c,d
Water Intoxication results due to intake of water.
(A) Normal (B) Excess (C) Less (D) Very less
Bibl@ Blevev eT6iLIZ) gjeray Bevr 2 L Q& meTeusm@Lb.
(A) Queuner  (B) 2B ©) gopss (D) Bs Gopis
Which country won the SDAT WSF Squash World Cup Championship held at Chennai ?
(A) India (B) Japan (C) China (D) Egypt

Qessranauiey penL_Glpp SDAT WSF (Squash World Cup Championship) e e may
2 s Garlieou smblwetafllieou a1 BI6h CleueTngl

(A) @pFwmr (B) sgLiLimast (C) Gewrr (D) er@\ig)

[ [E
Find the odd one out. 5
(A) Right to Equality (B) Right against Exploitation
(C) Right to Property (D) Cultural and Educational Rights
UL L gétenp ST L.
(A) Fs5100 2 Mewio (B) soer_gué@ e1@umes o MeoLo
(C) Qemsgifanio (D) sevall wpmib sendsry 2 Menio
One among the following is an extinct species
(A) Cheetah (B) Arctic Tern
(C) Malabar Hornbill (D) Dodo

BipssnamLaIaUDPed @6l anphg Gumet o uilfeTon@Lb
(A) Imisans (B) <yiigd Gl_rresr
(C) et apmiesTiied (D) BGLm




17.

18.

19.

26-

Match the following different colour number plates.

I) Red Number Plate a) is for commercial vehicle
II) Blue Number Plate b) means that the car belongs to a common citizen

III) White Number Plate  c¢) is given to a vehicle that be used by foreign delegates/
Ambassadors

IV) Yellow Number Plate  d) is used in the vehicle for the President of India and Governor
of States

I I I v
(A) a b c d ELE
B d e B = Eea

G d a b ¢
D) b ¢ d a
Ounpss1s. LGCap) TRt B)WES555B1SET.
) &auliy eucnents 5B  a) euenllsFGLITGT 6UTSESILI%EhSSTETSMELD
I) Bev euessrewsis s b) @& FnsTIT &L9L05E0)%G C\FABSLOMGT GUTHETLD
GTGTLIS TG LD
Il) Glausirener cussenis $&® ¢) JwBTL B LTS BHS H6T/S1STS6T LILGTLIHSSHILD
QUTHRTBISH @SS il LILIHILD
IV) wepser euamenis 566 d) GUwWIss sewealt wHmib ABle 2656
QUGBS LILIGTLI(HSSLILI(BLD

I II I Iv
(A)a b ¢ d
B)d ¢ b a
(C)d a b ¢
(D) by g

Teacher’s day is celebrated on September 5% every year because
(A) Itis the birthday of Dr. S. Radhakrishnan

(B) It is the birthday of Gurudev Rabindranath Tagore EEE
(C) It is the birthday of Tr. Subramanya Bharathi BIES
(D) It is the birthday of Dr. Bheemarao Ambedkar

gaGlour auL(pib Y@ Mwi ewtb Qi bt worgLd 5 b G5 Clsmenm_m_L
LB USDFBTET HITTEWTLD

(A) LnmgLi. S. @Qursn&payewies yauiseiler Lnbs Gerd
B) 8- 66Cs6a QuiisSupns snsfer LIpEs Herib

(©) 9®. sLgwesfl LTTwni syeuiselst LIDGS FewLd
(D) nm&i_. Somgres bCLgsi yeuiseier kg Serb

The linear momentum of a particle is the product of and

(A) Mass, acceleration (B) Mass, velocity

(C) Mass, displacement (D) Mass, volume

g156T alesr CrisCsri () 2 BsLd eTaTLS 25556 6T LoHMILD
OlLIBESHLIGOGT 2y Lb.

(A) Bleow, wpBsLd (B) Blevp, BensGousib

(C) Blevp, @)L L1QLIWIER (D) Bleom, Li@HLOGT




20.

21.

22.

23.

24.

A=

Statement I : The arrested person details are available on Tamil Nadu Police Website
https://www.tnpolice.gov.in

Statement II : A person can apply online for Police verification through Tamil Nadu

Police Website.
(A) Ionly correct (B) 1II only correct
(C) Iand II correct (D) Iand II wrong

ams@uinl 1 esg Qeiwiiul L puiselsr elugmiser SBIPHETIE ST1aISI@®D
@ eSS ED FlevL & @Lb.

auns@uib I1: @@ puT SOPHIG STeIcSI®D @) TS ATSBI6D GGG
FRAumilIy S @ allevTewTLiLNSEaTLD.

(A) 1 ol b &l (B) 1 o (®1ib &l g?“ﬁ

(C) 1 opmyib 11 &l (D) 1 wpmyid 11 saumy

In which book Aryabatta explained the true causes of Solar and Lunar eclipses ?

(A) Chandravyakaranam (B) Gargi Samhita

(C) Brihat Samhita (D) Surya Siddhanta

QMWL LT SIS BIGVTET @)eb @M, FHHT FTSHEwTIEIS EhHSMGT 2 GHTenLOS

HTTERTEISEGT 16T L] GITATTIT.

(A) #6890 eflwnsgesiLd (B) smi@) Fbamlsm

(©) YBss sbaDisT (D) @il gsmbsm

Who designed the Indian Currency Symbol of Rupee ?

(A) Amartya Sen (B) Urjit Patel

(C) Udaya Kumar (D) Raghuram Rajan

@BSw esumis GrrigeT GO L aILYAIMLSSAIT W ?

(A) <igSwm GlFar (B) 2.igdls LGL 6

(©) 25w @i (D) g@omib gmggest sl

Steel is an alloy of W

(A) Iron and Carbon (B) Iron and Zinc

(C) Iron and Tin (D) Aluminium and Carbon

610%@ 2 CnsE50@al GTGHTLIS)

(A) @@tbL DIt SmiLIGHT (B) @uibL) opmith gilsis

(C) @by opmILb 1965 (D) yaidlesfliid opmiLd LG
is the first Municipality in Tamil Nadu.

(A) Tiruppur (B) Walajahpet

(C) Avadi (D) Hosur

SOPBIL 196D (LpSGTI(LpSeID o (FaUTSSLILILL BSHTT 5 2(&LD.

(A) BaLigr (B) eumevmggnGrit_ent_

(C) oy (D) gt
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25. Noor Complex is the world largest concentrated solar power plant located in the

desert.
(A) Gobi desert (B) Sahara desert
(C) Thar desert (D) Kalahari desert

2 &6 LsL10 LM eraded oL iSSwme @fli QDD6eL 2eEWITET BT STLDeTSE
LITEnGURIGTSHIG) 9eOLDBSIGTONS).

(A) Csml ureneveuaTLD (B) gammgm LireneelesTLD

(C) s LmeneVeUETLD (D) sevsnil LImeneveUasTLD

26. ‘Sylvester da Cunha’ recently in news was known for
(A) Oldest person from India to climb Mount Everest BEE
(B) Creating the Amul girl mascot for Amul Company ﬂq%
(C) Association with ISRO’s Chandrayan — 2 Mission
(D) Bringing Technological revolution in South India
FBLSH W QFiIDsefled @)L b QupmlBhg ‘FevClauevL_iT LT G6TanT 6TeTL6IT 615D G
Quwir Cupmeur 2
(A) erauQrevl fss@Hed emlw D% euwsnest @)HSw BLIT
(B) @ywpod flmieuaig@ et e _wrer Harastionet Smibleow o HeIrsGweui
(C) @anGurailer ep@gwmer —2heper G L_SgiL_er QT jenL_weur
(D) Gserafp@wraler QsmAHLITC Nanw Clsne(® abgeut

27. Energy produced in the Sun is due to

(A) Chemical reaction (B) Nuclear fusion

(C) Nuclear fission (D) Electromagnetic induction

@Mweflev 2 (HeUn@GLd YDOEVISEG HTITEHILD

(A) Goufallener (B) <iemisasm @)eenreay

C) SyawsaHm Llarey (D) WNesrsmbss SiesrL_ev
28. The High Courts in India were first started at

(A) Calcutta, Bombay, Madras (B) Delhi, Calcutta, Punjab

(C) Hyderabad, Calcutta, Madras (D) Calcutta, Madras, Delhi

@ BB wralled (LpFed LpFedled 2 WABS OGBS CIGTL_RISLILIL L (@)L BIS6T
(A) Qsrevsssm, wpbeL, Gaaremar (B) GLead, Csressst, LIEHFTL
(C) ssumung, Qsrwssst, Qasreanar (D) Carevasst, Geeramer, GlLcal

29. Kalakkad Mundanthurai Tiger reserve is located in EEE
(A) Pothigai hills (B) Anaimalai ‘%
(C) Palani hills (D) Cardamom hills
FTSHST(H) — (LPGTL_hGIenD L{GOIS6T HMLILISLD G) 9YEOLD/HS|GITETS].
(A) QuirBPens Leva (B) <yemaroamav
(C) upeflbeney (D) grewdsmil Lenew

30. Complete the analogy.
Anaemia : Drumstick leaves : : Malnutrition :

(A) Pizza (B) Cake (C) Cookies (D) Balanced Diet
RLIL|GOLD F(H5.
@Quss Csmens : (Lp@HEImSSESar : @ 2an | FFSZEHTLD :

(A) ditenr  (B) Csé (© @48 (D) sflaiiFls o cway




PART — B : Psychology, Law and Police Related Subjects

31. Choose the correct reported form of the following sentence.
:_,3 Jaya said, “I am working in a school™.
(A) Jaya said that she was working in a school
(B) Jaya told that she is working in a school
(C) Jaya said that she works in a school

o
(D) Jaya told she worked in a school BIoH

32. Match the following synonyms.

I) Address a) Correct

II) Band b) An implement used to hit a ball
I1T) Bat ¢) A musical group
IV) Right d) Location

I I I iv
(A a b ¢ d
B)d b ¢ a
©d ¢ b a
MD)yb ¢ a d
33. Fill in the blank with the suitable connector.

It is rainy. Take an umbrella ___ you will get drenched.
(A) and (B) orelse mgm
(C) still (D) but O]

34. StatementI : Indelible means — cannot be rubbed out.
Statement II : Indelible means — can be removed.
(A) I only correct
(B) II only correct
(C) 1and II correct

(D) 1and II wrong




35.

36.

37.

38.

39.

40.

-10-

Fill in the blank with the most appropriate idiom.
Traffic is moving
(A) in your court
(B) in seventh heaven

a4
(C) ata snail’s pace [
(D) on cloud nine
Fill in the blank with the suitable preposition.

She embarked the ship for Sri Lanka.
(A) on (B) in (C) with (D) to

Fill in the blank.

A book written by the author about his own life is called
(A) Biography (B) Autobiography
(C) Fiction (D) Short story

Complete the sentence using appropriate modal verb.

IfIwereachild, I__ climb trees easily but now I can’t.
(A) will (B) shall

(C) can (D) could

Choose the synonym of the underlined word. EEE
The Captain of the team is sturdy. ,ﬁ%‘{
(A) weak (B) strong

(©) tall (D) good

Choose the correct question tag.

Wewon’tbelate, ~ ?

(A) will we (B) willn’t we
(C) won’t we (D) shall we

A
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41. Hewsss ClsemmenbL m YLILISTET aUESDI Beopuyb — Gués auLpdE GlFmeaa

42.

43.

44,

45.

(LSS UPSSHTS LOTDMIS

(A) Hovsems Qsempeyblm LIt S16T auuiD) BlenpujLb

(B) Hvsss Qsern Geuat®d yLIGLINGI ST QUGS Blepub

(C) Aavsems 2 pay CFuiu Caie(Id QUIQuTg e euuim BlewpuLd
(D) Awsmss Harp Ceaar®d LIOLITPS SresT ruilny BleopuyLb

QTS S5

) s a) SL GGV EZE

II) sewer b) ypmI Ef%li
II1) emav c) s
IV) et d) wpseirento

I nm I | AY

A B d a c
B) d a b c
(C) ¢ d b
D) d c a b
‘@ubseli’ — eeab GFmeenel LIMSg eTIpSS SewL_LILIG]
(A) eous + saili (B) usei + saflit
(C) e + safli (D) w& + safli
urs@un 1 : oriGspnsms QaupBsrnns pyéGLd L LD & @5 (&S

‘gamewdGsne’ yalldgd Hplali.
urs@uib Il : o oESMens GTeTLg aIEMS aTSSILD. e
(A) 1 @b &l (B) II wor"_®b &ifl Ble
(C) I opmyib 11 &M (D) I wpmyb 11 seumi

Qsravsmiiuib sHpUSHE perert, LD Clup Carergw BI6H GmLAlBIgLD
- @esalerL_&Cspp eflem LS H)%.

(A) wpseir pseded LAHS Cup G Bred 615/ ?

(B) Qsmevasriifuh spusp@ wpeart LlpSelLp Galesigw K 618 ?
(C) Qsmevsriub spp erent LD Clup Ceuedigw BI6H 615 ?

(D) Qsrevsmiwb spUSHEGL LD @)evdsent BV Lin& geuGlwiom ?




46.

=]12=

‘eroLd’ eteiTanyLh GlFmevedlasr GlLimpeiT
(A) ungismiy

(B) afgid %ﬁ
©) @musmiiy B

(D) smiy

47. plspsrewsams o ewnrisgitb ClFme 618 9

48.

49.

50.

(A) gyesriue. GBS ms)
(B) gyetruiiui GuAl®b
(C) syesrui. Guil g

(D) gueriiu. Grpaileveney

“To us all towns are one, all men are our kin’ @b Gom PO LIwiLiLyd@GMw SLlp @)evsEw
auflenws Gsiis.

(A) ‘erevGovmpLd LD 2arengd CFrihHali

(B) ‘wngyib 2arCy ; wmeuaph Gsafli’

(C) ‘erevCevnpLd mLb 2 peilesti’

(D) ‘8ab mermyd i Su eumgn’

QpissTwvs®S 2 isgihb CSTL T 6185l 2
(A) ungsaliui

B . 3

(B) unsisngserit %

(C) ungysnéFepeti [&]

(D) ungysrésaileveney

LomjenLn’ — ereigyyLb GlFmeveller 618)iEGFme 618 ?
(A) @bewio
(B) @bewio
(C) Q&dienio
(D) sawenLo




Study the following table and answer the following 3 questions (51 — 53).
ECp QsTRSSLILL BHIETeT I L UL Ly 81 Brpsan 3 Caeralls@nsE (51 -53)
aflen_weflésa Lb.

Annual Income of 5 Schools

Sources of Income and Schools
a6t pLpeuLD LoPMILD LIGTGHSET
A B C D E
Tuition Fee
S gsa 120 60 210 90 120
SDLISSVSHTET ST
Term Fee
i . 24 12 45 24 30
HITeY HL_L_683ILD
Donations
TSI 54 21 60 51 60
Grants
A . 60 54 120 42 55
Haps 12 3 15 3 15
Qa7 ClFvey
i 270 150 450 210 280
@orgsLd

51. The income by way of donation to school E is what percentage of the miscellaneous ?
(A) 25 (B) 40 ©) 4 (D) 400
Be1QsTeL epelons LeTall E alp@ el S SyLiLeafuier @sr Gleewaller
assmar al(SSTHSET G ?

(A) 25 (B) 40 ©) 4 (D) 400 E: o

52. In case of how many schools is the income by way of tuition fee less than four times of the term
fee 7
(A) One (B) Two (C) Three (D) Four

aseman Lsefsalley, SPLISSED S18 aUIa], FI6TES DL S SLL eSS el
GODUTS 2 GTaTS ?
(A) gebmmy (B) @ran® (©) epe (D) mreire

53. Which school earns lowest term fee as compared to its total income ?
(A) A (B) B © C (D) D
B LT, g6 Glorss aIBLLINS®S @UILIR @Sl GS@PHSLLTF ST
s Lawigams ClLupSnal ?

(A) A (B) B ©) C (D) D

A0
&




54. Probability lies between

(A) —1 and +1 (B) Oand 1
(C) Oandn (D) 0 and e
Bspssa) wHLidedr @)enr Gleuaf
e P [E]#EE]
— + :
(A) -1 woppib +1 (B) 0 wdmib 1 &‘%
(C) 0 wHpbn (D) 0 wHmih =

55. If day before yesterday was Friday, what will be the third day after the day after tomorrow ?
(A) Thursday (B) Friday
(C) Saturday (D) Sunday
Crpevpw prafler whasw Brer CeuerallsEpenio, 6T, HIGHGTILI LOM)BTeNGT
CLPGITDTOUS] [BTGIT GTGHTGT ?
(A) aflwmpsGpenio (B) Glaueiraflé&penio
(C) safla&lipanio (D) @muinmisSpento

56. Find the missing term.

4 3

5 77 9 9 ? 6
8 7

(A) 77 (B) 79 oL

< 73 (D) 75

Bpgsen_ auflenarpeapuiey allGuUL L eramsamerns Csiay ClFuiwe b,
4 3

5 77 9 9 ? 6
8 7

(A) 77 (B) 79

© 73 (D) 75

;

|
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58.

s o

The following graph represents the types of crimes and their percentages. Indicate for which
particular crime, the percentage increases.
\ Crime in a City
80+ 7o 74

phod | 63 7- 50 1999
60 =+ 54 foc 7 2000

jﬁ:Z 7

=n é %W £

6 40
Kidnap ~ Murder  Assault Rape Dowry

0
death
(A) Kidnap (B) Murder
(C) Assault (D) Dowry death

L6 TeUHLD QUEHTLILIL LD 60 QUEHSIITET GDDEISEPLD IS F56i55®SULILD GO BILD.
s UL L GPpsBeT 55695 G SMIL YBSLILL FLOTE 2 GTOTS] CTRILIHSS

@D aLb.
/ P BFHISFI6H SDODLD
80+ 72 74
=+ 65 ]
72 42 759 1999
20 1 7 57 / = [ 2000
40 + / 36, 35
30 T 26
20 + / / -
10 + / EI“%%
0
SLGEHD Qarenew  srH@se  SPLLPLLY UIS LGP
LD [TERITEISH 6T
(A) sLgg6v (B) Qsmanev
(C) sméEse (D) QUL FenGST LDITGHTEISGT

A man moves 4 km towards East. Then moves 3 km towards North. How far he is from the
starting point ?
(A) 8 km (B) 7km (C) 5km (D) 6 km
@@ ez Sipd@ HosGrrss 4 &.15. Cleab@prar. LIpG aIL&E BeanaGrrss)
3 §.18. Qeow@prer. sbwelsesr Qsr_dés Bowuladnss assmea &.L5.
Osrevavailed @)BSHDIET eTeim SR S5 FRwTaT el &5s.

(A) 8 &.15. (B) 7 &)..5. (©) 5 ... (D) 6 &).15.




59. An ant climbs 30 cm at the beginning of each hour and rests for a while. He slips back
20 cm before he starts climbing again in the beginning of the next hour. If he begins his ascent
at 10.00 am, at what time will he first touch a flag at 120 cm from the ground ?

(A) 6 pm (B) 5pm (C) 8 pm (D) 9 pm

R eIpibL @aI6leun oewf] CrusSler Clsm_sassGaib 30 cm o wgh ) Ffls
Crod @uibleu®s8DS1. D55 @@ el CorsHler Csn_ss556 LBarBib e
Clgm_migLb wpeit 20 cm I CarTsHs o Gng). 9eiGamibL) srae 10.00 tewnfld s
apg Ggm_m@erned, 65 CrrsHed somuiler @Qwps 120 cm 2 wrsHed o arer
Casmyemws CFm(@Lb.

(A) omemev 6 (B) wmemev 5 (C) memev 8 (D) memev 9

60. Study the diagram given below to answer the question. The triangle in the figure depicts women
in villages, the square depicts the unemployed women and the circle depicts the educated women.
Educated unemployed women in villages are represented by —

[=] 1.-’

(A) A (B) B (©) D (D) E

SLpSGHIL QU LIL_BIS6T Haualisg @ 2 siter Cseralé@ LB yofldsaLb.
w&Csnewntd Gumn Cuewsamer GP&EDE. 510 Causavulevevr GLiTSmar
GUISSPGI O aul’ L b LSS Cluansmaer GNEE DS, 615 BITLSHe LIS
Gauemavuilevevr GClLieseaer GBEEDS 2

EEE
(A) A (B) B (C) D (D) E Rl

61. Some boys are sitting in a line. Mahendra is on 17" place from left and Surendra is on
18" place from right. There are 8 boys in between them. How many boys are there in the line ?

(A) 43 (B) 42 (C) 41 (D) 44

RG ilensuiled Fev LomewTeuisHeT YLD BEBDMiseT wCSEHIT GTeTLIOUT
Q11 usssDNBrEg 1Taug QL SBaub wpHmid &CuEHum LT IS
u55550BEg 180ug @)L S8 QWsGpriser. QBs @) wreweisaieanL_Gu 8
LDTGRTRUTSGT YLOABF (BSBDITHGT GTGHDITCY 6TSFENET LOTERIUTHET 9j6ieuMNenFullcy
LTS (5EF DTS 6165 LISV F(155.

(A) 43 (B) 42 (C) 41 (D) 44

A




"

62.

63.

<] 7~

Split 64 into three parts such that the numbers are in Geometric Progression.

(A) 1,4, 16 (B) 2,4,6 (©) 2,3,8 (D) 2,4,8

64 rehp GTaETeeRTLl QLIBGSGS CsTLit auflenauiled SMLDHS epETDI GTeRTS6H 6T
QUIBSSDLIVGTTS GT(LHSI-

(A) 1,4,16 (B) 2,4,6 (©) 2,3,8 (D) 2,4,8
Choose the number which is different from the other numbers. ELE
(A) 81 (B) 36 (C) 54 (D) 61 s
Lpn eTasTsanadlbhg CaupiLiL L eI TS G605 (H)&oHeLD.

(A) 81 (B) 36 (C) 54 (D) 61

The following Pie Chart represents the number of valid votes obtained by 4 candidates.
The total number of valid votes polled was 720. Read carefully and answer the following three
questions (64 — 66).

WGereumid eu alerdaliutb 4 Gaul Limeriser Qupp CFeaLIWIGLD UTEEGSaeT
aaTeismsmus GHEEDS. Crssd LB eiTeT Qeea LIy WTGLD &ITdES 66T
cramanfldens 120. seueTonsl Lysg Csaralss (64 — 66) LSwaflsse)b.

64.

65.

I Candidate — |
Gau umerit — |
II Candidate —2

Geui ot — 2

1l Candidate —3
Geur Limemi — 3
IV Candidate —4
Gaur umemi — 4

Who won the election ? How many votes did he get ? o
(A) Candidate — 1, 240 (B) Candidate —2, 120 B

(C) Candidate — 3, 240 (D) Candidate —4, 120

Gsisadled Qaupp QDD Wt ? U TSSEGT Gt GS6T Quppmi ?
(A) Geur_wmari — 1,240 (B) Geur’ umeri —2, 120

(C) Gaurumeri— 3,240 (D) Geulumeri —4, 120

By what margin, the winner defeated the nearest contestant ?

(A) 20 Votes (B) 30 Votes

(C) 40 Votes (D) 60 Votes

s oNSHWrEEHe Ceups) Clupp GaulLmert LLDDAIDT Canps1ySsmi ?
(A) 20 LB &seT (B) 30 gL (psser

(C) 40 gL Béser (D) 60 L (Réser




% A8 A

66. Who got the minimum number of votes ?

(A) Candidate — 1 (B) Candidate — 2

(C) Candidate — 3 (D) Candidate — 4

GODEHS L& aurd@Gsamaer Glupmeud wri 2 ElRE
(A) Gaur wimeri — 1 (B) Gourwmenri —2 =
(C) Gaulwumari—3 (D) Geurvimemi —4

67. In a certain code, MOUNTAIN is written as OMNUATNI. How is READER written in
that code ?

(A) ERADRE  (B) ERDARE (C) REDEAR (D) RAERDE

@ G L @plufi” 19 st MOUNTAIN er6irLigy OMNUATNI eraw e1(psLiLil” (Bereng).
9% GHMufL 190, READER ertiiig erupslii®ib 2

(A) ERADRE (B) ERDARE (C) REDEAR (D) RAERDE

68. Find the correct answer.
Dawn : Dusk :: Inauguration : ?
(A) Invitation (B) Valediction
(C) Repetition (D) Organisation
Flwrer uUFevd HevsTL_PlcyLb.
afligwed : B 1 Gy aflpm: ?
(A) eIz (B) Yfley o Ligeny aflipm
(C) wWessr(h)ib LOGvoT(H)LD (D) <yewioLiny
69. The value of a motor cycle 2 years ago was I 70,000. It depreciates at the rate of 4% p.a.
Find its present value.
(A) X 64,215 (B) ¥ 64,512 (C) X 54,512 (D) X 54,215
Qb FSs7 aunseId @epler allewew 2 YarBsens@ wer X 70,0005 @)BESS.
9gar HLIL YaBGCsImid 4% ai5d Gop@ngl. 2s6T sHOLTMSW LS
&T6H0TS.

(A) T 64215 (B) T 64,512 (C) T54512 (D) T54215 EEE
=

70. Which term is wrong in the following series ?
196, 169, 144, 121, 100, 80, 64
(A) 169 (B) 121 (©) 80 (D) 64
G OsrRssLiLL Herar COFm_Meb 615 6Teusr SeupTaIg ?
196, 169, 144, 121, 100, 80, 64
(A) 169 (B) 121 (C) 80 (D) 64




71.

72.

73.

74.

(A) Yg6ugy

-19-
Find the value of x if ZAOB is right angle.
B
Cc
; 3x
o A
(A) 16° (B) 15° (C) 20° (D) 18°
ZAOB aratrLigy 6l&BIGHTewTLD 6760 6D X 63T LOFIIGHLIS &ITaoT%.
B
Cc
2 3x
0}
i (=5 [E
(A) 16° (B) 15° (C) 20° (D) 18° op

There are 46 children standing in a line. If Rohit is standing in 38" position from the right,
what is his position from the left ?

(A) 10™ (B) o (C) 8 (D) 11*
@p auflensuiley GClongsib 46 Gmyeuiser BDFDATSHET. HeurGanesT aUeVLILIGSLOFHS
38-geug @)L sHev Corans BH&wre eresflev, @)L_LiLidsLObhg CrmanlsSesr @)L b

GTGOTGET 9

(A) 106ugy (B) 9eugy (C) 8eugy (D) 11eug

30% apples out of 450 are rotten. How many apples are in good condition ?

(A) 125 (B) 180 (C) 240 (D) 315

450 gy L1 9ersailed 30% yLpBlw Blenevuleh 2_sitaner. pevev Blenevuiayeer oy L6 e et
GTGOOTGOOI GG GTGHTGT 9 o

(A) 125 (B) 180 (C) 240 (D) 315 e

In a class of 35 students, Kunal is placed 7" from the bottom whereas Sonali is placed 9" from
the top. Ravi is placed exactly in between the two. What is Kunal’s position from Ravi ?

(A) 9" (B) 10" (€) 11" (D) 13"

35 wrewrauisemen Gare au@Liley, Gemned GG QBES eTpTeaus Q)L S
g gsni. HCs Fwwib, Canenmeld, GoeSlhig e@a@TUSTME QL Sws LIgdSHi.
gail, @ e C@md@d @ent_uieh Filwns emeudsLiul Rerearmi. galull b @)wHs!
&1 Bleney 6TciTes ?

(B) 10,018/ ©) 1lyeug (D) 13g6us




75.

-20-

Statement I : The additive inverse of =32 is —32.
Statement II : The value of (—10) %X 2 is 20.

(A) T only correct (B) II only correct

(C) TIand II correct (D) Iand II wrong
aurE&Gunb 1 : —32 61 gl L 6b e1Hinenm —32.

aurg@wib I1: (—10) X 2 &7 @iy 20. %&E’
(A) I @b &M (B) II or" @b &M Bt
(C) I opmyeb 11 &f (D) I opmuib 11 aumy

The following graph depicts yearly milk collection of a milk processing unit (76 and 77).
LesTeu@sLd euengliLiL b e Lmed LSLILIBSSILD Lflaler euwpnp@r umed GCasllienL

&1 &g (76 opmiLd 77).
90

76.

77.

78.

80
70
60
50
40
30
20
10

Milk intake in 1000's

ume 2. Glameirersu] 000 G)sb

1981 1982 1983 1984 1985 1986
Year/ausi b

Which year recorded maximum percentage growth of milk intake ?

(A) 1981 (B) 1986 (C) 1983 (D) 1984

6T gyewi(h) Limed 2 L Olameimaredley YFELILF 55655 aueridfenw LG e CFIFDS ?
(A) 1981 (B) 1986 (C) 1983 (D) 1984

Which year recorded least percentage growth of milk intake ? OEACH

(A) 1981 (B) 1982 (C) 1983 (D) 1984 o

61 ewr(h LiTey o L Glasmereredled Gopps ss5als aueniéfeaw LSHa CFiiss 2
(A) 1981 (B) 1982 (C) 1983 (D) 1984

In each of the following letter series, some of the letters are missing, which are given that
order as one of the alternatives below it. Choose the correct alternative.

abca bcaab aa caa c

(A) bbac (B) bbaa (C) acbb (D) acac

Qsr@ssLILL Rerer e1(pdgIdsallar auMansulled e e11pSSHIs56T alll_LIL (ReranesT.
AU L erpdgisamer 0 cauflansulle LGevrns CleTHSSLILIL BeTaTeT. Filwimest
LBenev sew(®h) LIgdsa Lb.

abca bcaab aa caa c

(A) bbac (B) bbaa (C) acbb (D) acac




W] A

79. Arrange the words into meaningful sequence.

80.

81.

82.

1. Sending 2. Encoding 3. Receiving 4. Decoding

(A) 2,4,3,1 (B) 4,2,1,3 (€) 1,2,3,4 (D) 2,1,3,4
UTTSSH®ET 9SS LpeTer auflenFuiled j(hdbsa,Lb.

L. oeiiysed 2. gpPluindsd 3. CQumpised 4. Gplalewdsid %‘__ﬁ
(A) 2,4,3,1 (B) 4,2,1,3 (©) 1,2,3,4 (D) 2,1,3,4 ©

A man starts from his house and walked straight for 10 m towards North and turned left and
walked 25 m. He then turned right and walked 5 m and again turned right and walked 25 m.

Which direction is he facing now ?

(A) North (B) East (C) South (D) West

R Loefser ser afl 196 @)wobs Crons euL_deas Crrs& 10 m pL_psrer. L9D@
Qa6 @)L g LSsHLD HHLbLd) 25 m pL_pHeT. D@ IjeueT euewgLpib H(HLbL) S m
BL_bSM6T. LDILLGULLD uevGILpib Fbd 25 m pL_psrer. @QUICLITG a6 61bs
Benganw Crnd@H%prer 2

(A) adg (B) &pss (©) Csp& (D) Gups

In a city ;a of the population are women and i are children. Find the fraction of the

population of men.
A o B 2 C . D 8
R BSISH6 o 6itar Glonss wEseT GFmewsuiesy — LmiE CLUETSET DML —
4
UBIE GPbansser eTasfleb, Gongs Losser Cgmensulleh yensailer L@ (L9ererLb)

GTGOTGST ?

6 5 i EiEE
A)i o B) -~ — = .
A) 3 ®) 75 (€ 52 D) o5 e
Which of the following diagrams indicate the best relation among sports, football, lizard ?

& 3 O ©

(A) a (B) b () ¢ (D) d
Werau@ib euagLL misefleh 61g) eleerwnl’ (), STOLBS, LS YHUMPDISES
@ oo Cuuwnesr Apps 2 peveus GPSSDS 2

© ¢ Q ©

Sk L S—— .
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83.

84.

85.

86.

87.

2%

If X says that his mother is the only daughter of Y’s mother. How is X related to Y ?
(A) Son (B) Father (C) Brother (D) Uncle

Y el gmils@ yeumerw smit @G a6 eraiy) X Qensieney, X @b Y &@Lb
eTeiTer O)FmL_iLy 2

(A) osseir (B) shHoms (C) #Gsngpssr (D) wmom

When we arrange the letters of word ‘VRAKIE’ in correct order, we get the name of a river.
Fifth letter from left in that name is

(AR (B) E © 1 (D) K

‘VRAKIE’ e16dip eunigengeow pab silwner wpeopulled oy6i6eumidensulleyerer
GIpSSIS&HaT LOAPY HYLOSSTV. BLodG @@ pHUIT QUi HevL_GGLb. 2ybS
e ClLwfed, @)L g1 LSS BhgI @bsTISTS QL Lb QUDBHEGLD 6TipSSI
GTGSTGYT GIGTLIGNS SHevoTL_Plbg FwmeT 6oL &([5s.

(A) R (B) E ©) 1 (D) K E‘%
[=]

Simplify : 40 + [9 x 2 + {(6 x 3) — (15 + 5)}].

A) 7 (B) 113 (C) 73 (D) 89

&5 1 40+ [9x 2+ {(6x3)— (15 + 5)}].

(A) 7 (B) 113 (C) 73 (D) 89

The train for Lucknow leaves every two and a half hours from New Delhi Railway Station.
An announcement was made at the station that the train for Lucknow had left 40 min. ago
and the next train will leave at 18.00 hrs. At what time was announcement made ?

(A) 15:30 hours (B) 17 : 10 hours (C) 15:50 hours (D) 16 : 10 hours
wgGarraipsrer guileh 6lL_cvel gulled HlevawwsBed @)HHs @aIGuTw @) e _eng
wewfl CEISEDEG RBUPD LPLILIGHDS. wéGatrayssrear yulleh 40 HLOL_kisensE
@ty yplul Geill L grsen. OS5 suied 18.00 wefléGL ypliu@ b
ereiIb BlewewgFed mladliLy Ceuelui il L gi. e1ps GrrsHe <yPailiy
Oeuafui it g 2

(A) 15:30 wewfl (B) 17:10 wewnfl  (C) 15:50 wewfl (D) 16 : 10 woewf]

Raghu and Babu are twins. Babu’s sister is Reema. Reema’s husband is Rajan. Raghu’s mother
is Lakshmi. Lakshmi’s husband is Rajesh. How is Rajesh related to Rajan ?

(A) Uncle (B) Son-in-law E‘L%

(C) Father-in-law (D) Cousin -

J&@Lb, urL|eLd @)oi” enL_wiger. Lmaler FGsngM Mom, MonelleT sewrelr greyer,
J&@IGT HYLbLom evaLd), v Alufler sewreuri gTGeey. TTGeey TEEDISE CTETGT 2 D6y ?
(A) womom (B) w@Loser

(C) wmwevrmii (D) eetiny &l #Csmg et




88.

89.

90.

23

Match the following.
I) Area of a square a) /x b sq.units
II) Area of a rectangle b) s?sq.units
III) Area of a triangle ¢) mr? sq.units

IV) Area of a circle d) l(b % h) sq.units

I O I Iv 2

(A) b a d ¢

B)d b

C)d a

D) c d

CunmsS1s :
1) sg10886T LIgLIL a) Ixb F.9e@s6r
) QecieussBer gty  b) §*F.geGser

oo ®

c
b
a

) wéGsreamgBen UgLiL ¢) T’ F.IJQGS6r

IV) eulL g&ler Ligliny d) 1 (b x h) #.e@Gs6T
n o Iv 2
d ¢

=]

(A) b
(B) d
© d
D) c

oo

a &
c b
b a

Pick the odd one out.

Chemistry, Geography, Subject, Literature

(A) Chemistry (B) Geography
(C) Subject (D) Literature
safl$s QBLILI®S TBSSI T(LHSIS.

GauHwaev, Lyauwed, Lm_Lb, @es&wiLb

(A) CouBlwev (B) yaflufwed
(C) um_ib (D) @as&lwib
: 3
Decimal form of 1—
20
(A) 1.25 (B) 1.15 (©) 0.115

1% @)6i1 BFLD GTEUT GULY.GULD
(A) 1.25 B) 1.15 (C) 0.115

ElZE
[

(D) 11.5

(D) 11.5




91.

92.

93.

-24-

“Personation at election” is an Offence under which Section of IPC ?
(A) Section 171 A of IPC (B) Section 171 B of IPC
(C) Section 171 C of IPC (D) Section 171 D of IPC

“Csligevsailed g6 aprl L 1b” CFieug GHOLD 616 (3).5.5. aler erLilMey
SIS/

(A) fey 171 A @).5.5. (B) t9fay 171 B @).5.4.

(C) 9fey 171 C @).5.5. (D) ey 171 D @).5.5.

Statement I : Sentence of imprisonment for non-payment of fine — Section 64 IPC.
Statement Il : Communication made in Good faith — Section 93 IPC.

(A) Ionly correct (B) II only correct %g@

(C) Iand II correct (D) Iand II wrong b

aursGuwib 1 : ougnsib ClFassTeniosd@Hs Fenps s _amar-Lifa) 64 @).&.5.
aung@wih Il : pebCleverentsCar® CsMalssiiu L CFuig-19May 93 3).5.s.

(A) I @b s (B) 1I or"(pib &f)
(C) I opmyib 11 &M (D) I opmyib 11 eumy

Match the following.
I) Summon to produce document a) Section 313 of Cr.P.C.
II) Special Executive Magistrate b) Section 13 of Cr.P.C.

IIT) Special Judicial Magistrate ¢) Section 91 of Cr.P.C.

IV) Examination of accused d) Section 21 of Cr.P.C.
I II I v

(A)b a c d

B)ec b d a

©a ¢ b d s

@d a b o "

QL5515

) g euemrmisemar FLomlsH a) 9Mey 313 Cr.P.C.

DGO LPLILITED G55T

1) @iy Blieuns BH 6T b) 9fley 13 Cr.P.C.

III) @iy EFSsemm BH 6T c) 9fay 91 Cr.P.C.

IV) @ppib #0gsLiul L_aleny d) 9Mey 21 Cr.P.C.
flemfliLgnasreT S SMILb
I I I Iv

(A)b a c d

(B)c b d a

Cya e b d

(D)yd a b c




94.

9s.

96.
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Declarations/Statements given by a person who cannot be found during the course of business
are admissible u/s of IEA.

(A) 32 (1) of IEA (B) 32 (2) of IEA

(C) 32 (4) of IEA (D) 32(7) of IEA

STeRTTLO6Y (GLIMGHT 63 (15 [HLITTEY JSIOIGD [BL_LIL| (LEHDUINGD QULPMBIGLILIL L GUTEH(EHPLPGVEISGIT

@).am.a1L_g@er erpgL) L9Meder Sip Fm Quiniserts epmiselsmererLiLi(ih 2

(A) 32(1) @.om.5L 1D (B) 32(2) @.sm.5 11D EE

(©) 32 (4) @.sm.s L 1b (D) 32(7) &).gm. 11D ‘E‘%

The recording of statement of rape victim is dealt under Section of Cr.P.C.
(A) 53A (B) 164 (5A) (a) (C) S5A (D) 54 A

UGTL|GRTTER GHPDSF e LITHSGHLILIL L auflest aumd@epevdeans LIDe) CFuige LmHm

CrPC. 9fey _ & 81p saplii’ Bereng).

(A) S3A (B) 164 (5A) (a) (C) 55A (D) 54 A
Find out the wrong pair under the Indian Evidence Act, 1872.
I) Section 101 a) Burden of Proof

IT) Section 113 B b) Presumption as to dowry death

IIT) Section 74 ¢) Opinion of Expert

IV) Section 17 d) Definition of Admission

(A) Tis correct (B) Ilis correct ~ HAS
(C) Il is correct (D) 1V is correct =

Saupret @Qieewianw @QBSw TS 1L S5 GLp SevsL_fls.

) 9fay 101 a) BlepLis@Ld Glumpyiy
II) 9Mey 113 B b) QUISL FGWT LDIGRTLONS 2YG)ILDTeHSS6
D) 9fey 74 C) eUeheBisalcT &ESS)
IV) fleay 17 d) emLengésnes auegwenD
(A) I&M (B) II &l

(C) I & (D) IV &




97. Match the following.

I) Criminal trespass a) Sec. 446 IPC
IT) House trespass b) Sec. 441 IPC
III) House breaking c) Sec. 445 IPC

IV) House breaking by Night  d) Sec. 442 IPC
(A) II-a IV-b II—c I-d
B) I-a II-b M-c¢ IV-d

[E]E5[E]
(C) IV—a 1III-b I-c I-d E&

(D) II-a I-b IV~c II-d

QuThSS15.

) @pprD 2AS815DD a) Liiley 446 Q).5.5.
) afi’igepieir HyS51L50) HIevpsed  b) L9fay 441 @).5.4.
III) afiiged seirard(Bse c) Lfeay 445 @).5.5.

IV) @uaileh afi’iyeb seranflGsed d) My 442 @).5.5.
(A) II-a IV-b IlI-c I-d
(B) I-a II-b M-c IV-d
(C) Iv-a 1II-b II-c I-d
(D) MI-a I-b IV-¢c 1II-d

98. As per IEA, what is the number of witnesses that are allowed for proof of any fact ?
(A) No Specified Number
(B) One EEE
(C) Not less than five e
(D) Not less than seven
Q)-om.5 1L $Bleb e1sgman FTREeT, @@ FRSHw Blen9ss 2eILoTeNSSMLD
ereTm) GO L1’ HeTensy
(A) ergioyb G L1L_afevenev
(B) ety
©) @bs pUiIsEpESG G@DWTLLH
(D) 7 puisend@ &Heapumoed
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99, Match the following.

I) Prosecution of Judges and Public Servants a) Section 198 Cr.P.C.

IT) Prosecution for offences relating to marriage b) Section 197 Cr.P.C.
III) Prosecution of offence under Section 498 A IPC ¢) Section 199 Cr.P.C.
IV) Prosecution for defamation d) Section 198 A Cr.P.C.

I O m IV
A)a b ¢ d

B)b a d v
C)a ¢ d b ElEE
© ﬁﬁ
MD)c b d a
QuIT55I5.
1) B9uBs6r oPMILD Gl a) 9flay 198 Cr.P.C.
2an SIS E5 & CIRINS GHDDAULPSS Gl m_igev
II) S @Locwitd QB mL_riLjenL i (SDDBISEHSHSTS b) 9Mey 197 Cr.P.C.

G GBI 6D
M) @.5.5. L9Aay498 A 6t B GOD upsE Csmiige c) Lifa) 199 CrP.C.
V) oeusn GHpsSnsns aips@ Clsm_iged d) t9Mey 198 A Cr.P.C.
I IO mm Iv
(A)a b c d

B)b a d c
©C)a c d b

M)c b d a
= EI
100. PSO 150 speaks about [
(A) Station Inspections
(B) Appointment of Commission in special cases
(C) Inquiry in cases of death or injury caused by Police or suffered in Police custody
(D) Procedure to be followed in sending weekly reports
sm.b.2. 150 gmmieug)
(A) smeuevBlencows yuie %6
(B) safl aups@saisy gmenrugeamns Blubss Couetiy g
(C) smaeh SlepUlaTIme SYeeg Srae LGS eHLI@LD LIeLD JjeVes] SmLL
aflenemuib Crieyser
(D) auny JPS®E56T JyeILiLjansudleh 1IeLpp Gaueiigw L (LpeD




101. Match the following.

I) Abettor a) Sec. 141

II) Unlawful Assembly b) Sec. 108
[II) Punishments ¢) Sec. /3
IV) Solitary confinement d) Sec. 53

I I m 1V

(A)b a d c
B)c b a d EE
(C)a d c b b
D)yd ¢ b a
AN CEETED

) 21 peng GpoaiTed a) Ly 141
II) & afConsLoner QFwed b) 9fay 108
II) sevr_enarsaer c) L9fley 73

102.

103.

IV) @enpuied seflsa em_gsev d) iflay 53
I I m 1

(A)b a d c
B)c b a d
(C)a d c b

MD)d ¢ b a

Which Battalion of Tamil Nadu Special Police has been re-designated as Tamil Nadu Disaster
Response Force ?

(A) Tenth (X) (B) Eleventh (XI)

(C) Twelfth (XII) (D) Thirteenth (XIII)
SPBI® PwLiL) smeued LenL_ulleT 61ig LenL_Liifleireng) sLOlppr® G i b
e wing BHlwioerd QFiwliul (hereng ?

(A) ugsmaug) (B) u@Oermesimeus)
(C) wedlGlyessrL_meug) (D) uHepesipraig
When a witness may be re-examined ? EEE
(A) After the chief examination ops

(B) May be re-examined without examining in chief
(C) May be re-examined after completion of all the examinations
(D) May be re-examined by a party who called the witness wishes after cross examination

e1IBung @ 1 fevw wmilFngeness ClFuiweord ?

(A) wpsev alFTgenent (LpLY b L 6T

(B) wsev aflgmgement CeuiwmoGe m aflemgenesnst OFuiwevmb

(C) swadg algngenemseapd (LpLY-app LIDE

(D) @mé@ aflemgeament (Lpyps LADG, ey Iepdh@&HLlb soLlilert all@pLbLieaTmed
omjeflFmgenent Gladiwievmb
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104. Which among the following is not insisted in Supreme Court guidelines during arrest of an
accused person ?
(A) Name badge of the Police Officer
(B) Intimating relatives or friends of the accused
(C) Entering in the General Diary
(D) Use of Hand Cuffs
Gppaursmear wss QFiieag upPlu 255 BELOGD i flar B ges e,
Bius@ssiuL_nssl 6150leueseh
(A) smeue Iy@yeeisalsr QUi Qarem_ GuL g JyelbGGised EEE
(B) eva@uileir 2 padlanisehdGs (2)) BerLIis@psGaT Osfalldse @
(C) Qung BT @B LSay
(D) ensalevmbens LIWGTLBSSIMIS!

105. Which Section of IPC gives punishment for being a member of an Unlawful assembly ?
(A) Section 160 IPC (B) Section 163 IPC
(C) Section 143 IPC (D) Section 154 IPC
@ FL_L alGrrgLomeT @Lbuade 2 pILIeTITS @) HSGLD RBABSS @).5.5. aller
a5 LMy sa_emer allaigdams alsEng ?

(A) 9fey 160 @).5.5. (B) WMay 163 3).5.5.

(C) ey 143 9).5.4. (D) 9fey 154 @).5.5.
106. Court conducts trial of a murder cases.

(A) Judicial Magistrate (B) Sessions Court

(C©) District Munsif Court (D) High Court

Qaremew auipdE LBsnar allemgamenarw BLSSiLb HSLOGTDLD

(A) Gppeiue Gt fBiospd (B diwiay FHospid
(C) wraul L o Aevwudwed FHLeLD (D) 2 wir FHIo6TDLD

107. Which Section of Cr.P.C. provides for compensation to persons groundlessly arrested ?

(A) 356 (B) 358 (C) 425 (D) 327

Cr.P.C. aiBsL M6y smrdeTmhs eag CEUULILIL L @i E5ssTer Q@uLils® Lppsls
N AL T

(A) 356 (B) 358 (C) 425 (D) 327

108. Which Mobile App is introduced by Tamil Nadu Police to trigger and send emergency alert
to control room to get immediate assistance by general public ?
(A) Kaaval Nanban (B) Kaaval Uthavi el
(C) Kaaval Thozhan (D) Kaaval Avasaram B
QLIngIL&5655E Csa@eaulILBILb yeusy 2 ST 2 L6y T STeied S HILILIT (b
oans@ OsMalss LwuaCup s8ps sTaivg@PUTD IBUPSLILIGSSLILIL L
®&LICUE ClFwed e1g 2
(A) sM6eU6H [BHEUOTLIGH (B) smeuch 2 5a9
(C) smaucd Cxmpeir (D) &meueh eusgLb




109.

110.

111.

112.

113.
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Punishment for forgery is dealt under Section of IPC.

(A) 465 (B) 420 (C) 479 (D) 481

QBHW FeL_ever FL L FH CIIMILITOIGHTLD L|enaTSe5 & SGRTL_OGT LIDH] JomiLb
L9Mey

(A) 465 (B) 420 (C) 479 (D) 481

PSO defines about dispersal of unlawful assemblies. Q%I

(A) PSO 603 (B) PSO 703 ity

(C) PSO 709 (D) PSO 609
SLOPBIGH Hreuc Bleney yenewtatasr i1 allGIng @LbLIOS® 6T FEHSSH60
upp GHEOBS DS

(A) &m.ib).9. 603 (B) &m./b).<9. 703

(©) sm.mbl.g,. 709 (D) &m.b.2y,. 609

Which special unit of Tamil Nadu Police looks after intelligence relating to tensions arising

out of communal and caste related issues and other general law and order matters ?

(A) CBCID

(B) SBCID

(C) OCIU

(D) Q Branch CID

SLOPBTR sreucvgieampuiled eThs ALy Lifey @eriSwner, grg fwmer L9y
FeTS6T LoPmILD ClLmgeunes FL L b @psI@ LupPlw peTesinle) CrsMasFng ?
(A) GPPLINe) GDD LTS S

(B) saifllifley @pp Levaiiia) sep EEE

(©) Bl &ppS 5O mewaleyLs ey B

(D) Q Siley Gpp HewerTiia) Siewp

Arrest to prevent the Commission of cognizable offences is dealt under Section

of Cr.P.C.

(A) 149 (B) 150 (©) 151 (D) 152

Cr.P.C. L97ey &1 BLp Levei Qaneeandsss @pmEIseT CFiwliLGeamss
SOLILSHETS &5 CFIS QSTL_fLns FapLiul HeTeng).

(A) 149 (B) 150 (C) 151 (D) 152

Whether High School Certificate is considered to be admissible under Section 35 of IEA ?
(A) Yes (B) No

(C) Partly yes (D) None of the above

QB W sr” Qus #”1_Hetr L9Mey 35 @6t SLp 2w BlenevLierel FreTdISL) eDDIS
Qamerer i@ Festeno CEmevsTL ST 2

(A) <b (B) @evevev

©) us® &M (D) Guoed Gleneter 61ga b @)evemav




114. CIPRUS refers to
(A) Crime Intelligence Police Record Updating System
(B) Criminal Information Police Record Updating System
(C) Common Integrated Police Record Updating System
(D) Common Investigation Police Record Updating System

CIPRUS erei1Lig e1e0s GHSE0G 2

(A) Senpid @)evsrL_cSlegaitey Gumellew Glussmi(h) G 19m FevL b
(B) @fdlewrey @airiiCGroagsit Gumadlen Glgssmi( iGL1igm Fevi b
(C) smwetr @eir_&Gr 1" GumeSlev Clrssmi(® HGL L 19k Hevr b
(D) smweir @etreuavig Caawer Gumallev GCudsmi® < iGL L i1gm HevL b

115. When is a person said to have committed house breaking by night ?
(A) Only after 10 p.m.

(B) After sunset and before sunrise E:3
(C) Between 2.00 a.m. and 3.00 a.m. only @
(D) Any time

@peur 61LIGLITG @)raileh SeiallhFmevd CFuIagTsd CFmeveLiLIBeumt 2
(A) @oay 10 wenflé@ Goed LoL” (H)Lb

(B) @ilweir oewpig L6TLILD 2 SWILDTUSH S (LPGHTLILD

(C) @Hsrenev 2.00 wenflulledwpg 3.00 wewflé@er o™ (b

(D) eriGuimgy Gausssr(BLomesiiayiLb

116. Minimum service required for a Police Constable to get promotion as Special Sub Inspector

of Police is
(A) 20 years (B) 25 years
(C) 28 years (D) 30 years

R HTeueT FpLiL) 2 &I g uieurergnsL Lgad o wiie) QLD G®DESLIL FLb 618556
QY @THFer Lewll LMEHwHEs Caueter(hLb

(A) 20 gy er@ser (B) 25 gy awpser

(C) 28 yemr(pser (D) 30 gy ewr(hser

117. Section 30 of Cr.P.C. deals with
(A) Sentences of imprisonment in default of fine
(B) Withdrawal of Powers

(C) Power of Superior Officers of Police ,@hﬁ.@

(D) Executive Magistrate Bt

Cr.P.C. LAy 30 erengls LpPHS FmpBns ?

(A) g ClFasss; SUPITTD YSDHG FeOD F6HTL_ 068
(B) @w@snurismaensg SmioL 6)umse

(C) Guaevflevevs smaie gyayauaiseleT 9SsmiLb

(D) flicunsd siemm BHeuT




118.

119.

120.

121.

~32-

Witness not excused from answering on grounds “that such answer will criminate him”
of IEA features about it.

(A) Section 125 (B) Section 130
(C) Section 132 (D) Section 133

R FTLE uBav CFmebausTed GHPSBDHG 2 6renns CBHLD 6T6hen)Ld HTIewTdS 6T
Guifleb LBed QFmevaeyb CimmyL IS HEG FT°&) @NBHNSSHLILIL DML L_[1T 6TGHLISEET

QBHwW FTFw FL'1L_SFaT fey aeuls&Sng).

(A) ey 125 (B) 9dley 130 E_,é@

(C) 9May 132 (D) 9May 133 et

Quantum of compensation payable to victim of rape under Victim Compensation Fund is
(A) Upto Rs. 2 lakhs (B) Upto Rs. 2.5 lakhs

(C) Upto Rs. 3 lakhs (D) Upto Rs. 3.5 lakhs

sPUPILIeTTE LUTHESLILL L IBSE SDD Flapasaiey LunGésil GL mmse et
Bleungews Glanensuiler Bip cupmsliL@h @)Ul Bg Csrens ereucaiaray 2

(A) em.2 @evL &b cueny (B) em. 2.5 @evL b cuenyg

(©) ep.3 @avlsb aueng (D) em. 3.5 @ovL gib aueny

Punishment of Abetment if the Act abetted is committed in consequences of and where no
express provision has made for its punishment is dealt under Section

(A) 107 IPC (B) 108 IPC (C) 109 IPC (D) 1101IPC

o L penswns @ssLiul L CFiens L6 allewarains GlFIwil L Te)D ST
STL_enad @ GleuallliLienL_wrer aumswpenp CFLiLIL_TFelL_S&/b 2 L bnsdE
ST @).5.5. L9fafled GBI (B eTeansy.

(A) 107 @.5.#. (B) 108 @).5.4. (©) 109 @.5.4. (D) 110 @.5.5.

Statement I : PSO 555 speaks about “Express Reports™.

Statement II : “Express Reports” should be sent in all cases in which FIR has been
registered.

(A) I only correct (B) Il only correct  mim

(C) Iand II correct (D) I and IT wrong E‘%

aung@uib 1 : sreusd FHlevew yemenr erear 555 “allengey yPlsamsser” LD
GOLIGF DS

amsSuwb I1 :  1pse 556160 YPisas LSy CELILIBLD eSS QULpSHEGSTSLD
“eflengey Plsens” el Gauest(hLb

(A) 1 w @b &A (B) II o @b &M

(©) I opmyid I1 & D) I wpuyd 11 saumy




122.

123.

124.

125.

126.

53

Which Section of Cr.P.C. deals with ‘Accused person to be competent witness’ ?
(A) 312 (B) 313 (C) 314 (D) 315

Cr.P.C. el L9fay ‘@M 1 & CFnevaeusnP@d $GH UL weld eTeIenSLI L)

FMIBDG ?
(A) 312 (B) 313 (C) 314 (D) 315

Statement I : When a person is bound to prove the existence of any fact, it is said that
the burden of proof lies on that person.

Statement IT : When any fact is especially within the knowledge of any person, the burden
of proving that fact is upon him.

(A) I only correct (B) II only correct

(C) T'and II correct (D) Iand II wrong

=] IE!

s

auns@uib 1 : e eihbsdF FEISHUNGT 2 wenoenwGuigy/d BlenLiSss Lol
Ul @@L Cungl, sseear Blenlils@GLd OLTDILiL] 2jeienTs
FHSSTEGHLD.

aung@uib 11 : 6168 #5155 GigniLb g euien Spleyd @ oL HIGLo 611”19 uNHSHEHLd GLing)
IS FRISHw BlenAE@GL CUImILiL) SjeuenT FIibSSTESLD.

(A) I (b &M (B) Il wor" (®ib &l

(C) 1 opmyb 11 &M (D) 1 opmyib 11 gaumy

Which Section of Cr.P.C. talks about Special Metropolitan Magistrate ?
(A) 20 (B) 18 (C) 25 (D) 24
Cr.P.C. sl tfley Qu@sst ApLiL] BT LUDDIS FnISDS

(A) 20 (B) 18 (C) 25 (D) 24

As per PSO 761, for whom History Sheet should never opened ? ELE
(A) Suspects (B) Habitual offenders ‘@*‘?ﬂ
(C) Juvenile offenders (D) Ilicit distillers

& jbl.y. 161, wrms@ eugeTdmIS ST CIBTL_BISd Fnl M5 ?

(A) #6038 mLT (B) euppsdsions @Gmmid LyfLelt

(C) Qoms @poaureiser (D) sererdFmgmuLd Smili&Fa1 16 is%6iT
Section 445 IPC describes about which of the following ?

(A) Criminal Trespass (B) House Trespass

(C) Lurking House Trespass (D) House Breaking

@).5.5. s L1906y 445 6t Grpsevsi_aupmled eTengLli LPD ealeumsSng 2
(A) @OOPUPDI 2ASSIBPD

(B) ofi"1gewi6it 2SS0 Biewipsev

(C) ugIm& il 1969671 SHILEY) K16 LS

(D) serardBSev
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127. “May Presume” is dealt under Section of IEA.
A3 (B) 4 (©) 5 (D) 6
“ ojepILDTENGSILD” GTD LISLD @).&M.FL L SF)6 Lfaled sapliLil (HeTerg).
(A) 3 (B) 4 ©) 5 (D) 6

128. Who is responsible for the maintenance and custody of personal files of Head Constable
(Taluk Police) as per PSO 117 7
(A) Inspector of Police (B) Sub divisional Officer EEE
(C) Superintendent of Police (D) Deputy Inspector General of Police &‘%ﬁ
sm.f).24. 117 @6 Ly semeaniod STeueisaier (S1aissm SMeauev) @) sFw
Gsrriyseer LITOALILSHEGLD LTSISTSS eILIUSDE@GLD CLTDILILjeL W AL

wmr ?
(A) smauch Gleow 2 UIITETT (B) 21" G’ G
(C) smeued HevursmentlliLImeTT (D) 5M6ueEIeND &IeHERTSS 6T

129. Escape from confinement or custody negligently suffered by public servant is punished under
which Section of IPC ?

(A) Sec. 222 (B) Sec. 223 (C) Sec.224 (D) Sec. 225

YL G5 @asslILLLDSBES Sdag sreeddBhs Gung seflui b
s oL wied sUL98 QealHsarsE QBS WL sa_merns s L gEe erliiifaile
LIy STy SsLiL@eurr ?

(A) 9Rey222  (B) 19May223 €) 9fey224 (D) 9May 225

130. Which one of the following is not a Part of Tamil Nadu State Crime Records Bureau ?
(A) Tamil Nadu Fingerprint Bureau
(B) Statistical Branch
(C) TNFSL Tamil Nadu Forensic Science Lab
(D) Police Computer Branch
L9GHTRUBIGTAIDDIET 615 SLOPHH) LOTEI) GHD 4GICHTE STILISSBIGH IEIFLD b6V ?
(A) spsi® alged Crens LISaS nl LD
(B) yerefl afeugts 9fey o
(C) sLApBIH FL_w YPlaTed 16 ddnl LD ‘Iﬁ%@
(D) smeuey sewflafllr L9fley

131. Who can issue an order to prohibit carrying arms in procession or mass drill under
Sec. 144-A of Cr.P.C. ?
(A) Superintendent of Police (B) District Magistrate
(C) District Judge (D) Sessions Judge

Cr.P.C. 197ay 144-A 61 LIy Sy SEISEFLGT 2ereueLh ClFevaImsCuT Sjevavg sl ()
LD QFiieiems s Qi yemeiil HYPSTILPELWOIT Wi ?
(A) &meuGh FHadTsmestLiLITeTT (B) wmeui’i_ poHeurr

(€) wrai’L FHUS (D) oyoiiey LS




132.

133.

S35
Courts have power to try cases summarily under Section of Cr.P.C.

(A) 257 (B) 258 (C) 259 (D) 260

Cr.P.C. 9fay &1 BLp BHIOTDEISE H(5Ss aflFngenent OFUIesDHeTeT
DEMILD ClLpmiciTang).

(A) 257 (B) 258 (C) 259 (D) 260

Who is/are eligible for Good Service Entry ?

(A) Deputy Supt. of Police and above

(B) Inspectors alone "%
(C) Inspectors and below rank

(D) IPS Officers alone

BoUGT LSS BBSTISHDSG 55 umips ySsmhser wri o
(A) gIevewT ST SewsTenflliLmert LZels@ GLocd 2 6TeTeTser
(B) <puieuneniser oL (hILD

(C) euwicumenit HMILD YSHES SLp 2 6TaTEUTS6T

(D) g.19.6100. B ASEHESG L (BHILD

134. Nothing is an offence which is done by a person, by reason of intoxication if

135.

(C) Qunmernzsmrds @GHpLIMey

(A) he is self intoxicated

(B) he is intoxicated by others

(C) he is intoxicated without his knowledge or against his will

(D) all of the above

GLYLOWESSBGT STIewTLons Sionesiéss $@GSwHm @@ pLfer CFwed eTiClLImLpg)

GODLPDSTGLD

(A) GuLWESS®S 2 (HauTsEw JLICILITWHET SetaTmed 2 L ClETaTerLiLIL” 19 (555
Gauam @b

(B) Gy Lwsssams o maursGw yLummer Cain @@mairmed C)sTHSSLILIL 1Y (555
O

(C) BYLWEssSmS o Heurs@w yLICLITHET IauBsE C&MUTLDED evevg)
DIQUBEHL_LI GTTTSBD (@S 6TH IS ClETHSHLILIL 19 (555 CouasT(HILD

(D) Guoed @plnil B erer 2enersgiLb

oke
Shorthand Bureau is functioning under El‘%i
(A) Technical Services (B) Crime Branch CID

(C) Economic Offences Wing (D) Intelligence Wing

MG F(H&H0\H(pSSIS Fal_Lb eThsL1 LIRaler Sp @wBIGHDSI
(A) @smpled s ey (B) @ppLilifey GoHDLILjTIINS 16D
(D) pisiwemmsloLs ey




136.

137

138.

(D)
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Which special unit of Tamil Nadu Police monitoring the activities of religious
fundamentalists ?

(A) Special Branch CID

(B) CBCID

(C) Special Division CID

(D) Q Branch CID

as @puiy 9fe) sWOPHETEH srald Feapuilsd LS FRwneT g LILeL_UTHSET
BL_GULY SEEHET HeHTHTeNSH DS ?

(A) sallilifle) Gpp Lovamies SiD

(B) @opritiife) Gpp Heamie)s sieop 'E*%%

(C) SpLiy e GOD LTS SID L]

(D) “&u” Yifle @pp Heamials Sl

The term “victim” is defined under Section of CrBC.
(A) 2 (m) (B) 2 (wa) (©€) 2(0) (D) 2 (p)
“Ln@ésUILc el ereip UgSBHeter eegweny CrP.C. Siile) 61 S1p
FapLILIL (B6TENS].
(A) 2 (m) (B) 2 (wa) (€) 2(0) D) 2()
Match the following.
[) Women Helpline a) 108
II) Cyber Crime Helpline b) 1098
[IT) Medical Helpline c) 1930
[V) Child-Helpline d) 181
I I1 I v
(A) d c a b
(B) a b c d EEE
© & .d b o H
(D) ¢ a d b
QlLITBS31%.
) wselli 2. gai erewr a) 108
1) eweur Hengib 2 FaIl erevr b) 1098
) o@wSsIeu 2 Fail erevr c) 1930
V) Gpbamsser 2 sail e1eus d) 181
I nm o 1v
(A) d c a b
(B) a b c d
(€) @ d b c
c a d b




139. Punishment for dishonestly receiving stolen property is dealt in Sec.

of IPC.
(A) Sec. 410 IPC (B) Sec. 411 IPC
(C) Sec. 412 IPC (D) Sec. 414 IPC

SBL®L CQuirmener Criewwpn pedpuiled CILUNISEH GSHDSBDSHTE 6L o6
616% FL L L1 9falled GOl Bereng ?

(A) Ofley 410 @).5.5. (B) 9fley 411 @).5.4.

(©) 9fey 412 @).5.4. (D) diey 414 @).5.5.

140. Statement I : Licensed Fire Arms should be deposited in the police station when the licence
got expired or cancelled.

Statement I1: Licensed Fire Arms should be deposited in the Explosive Godowns when
the licence got expired or cancelled. Gkt

(A) I only correct (B) II only correct ‘5@&%

(C) I and II correct (D) Iand II wrong

urs@uib I : oMb Qb 2 usSS 6T 2 Mioth 158 OFunuin’ L _rGer 2jeevg)
SMTVTaUD YaTCer I ssams STaus Hlaawwsse @LiLmL &5
Geuair(piLb.

urgGunb 11 : oMb Qupp sSSPt 2 Mot 1&g CFiiwiu’ L rGeor eevg)

srwreu® yarrGar Qe Qurmer L BGled @LL®L 55

Geuain (L.
(A) I @ &M (B) II o (b &1l
(©) I wpmd 11 &M (D) I wpmyib 11 seumy

141. Which PSO explains that every person who is arrested shall be produced before the Magistrate
within 24 hours of such arrest ?
(A) PSO 622 (B) PSO 623 %ﬁﬁ
(C) PSO 624 (D) PSO 625 ‘
R pUDT &G OCFwwiiu’ L SHeSmoEs @) wuUss mrerg wewfl Grrs smew
eralpGenr Gppaiwe gawp pHMALLD @LiumL &% G erein 6Ihs
SLAPBI(H HTUD BlEH6Y YeHERT T80T FnDIBDS ?
(A) sm.bl.3. 622 (B) sm./).2y. 623
(©) am./b).,. 624 (D) &m./6).94. 625

i




142. Omission is denoted under Section ~ of IPC.
(A) 33 (B) 34 (C) 46
“aNpens” ey GPss @).&.5. aller
(A) 33 (B) 34 (C) 46

143. Direct Evidence means
(A) Directly seen EEE
(B) Directly heard e

(C) Directly perceived by sense

(D) All the above

Gmog Fm’ Guib 6TGTLIG

(A) Cooywnss LmiliLg

(B) Groywnsds CsLLig)

(C) Crrgwrsl LjeETSanTey 2 awllibssl
(D) GLopsessiL jeaTsg/LD

(D) 47

L9fey FmIBws.
(D) 47

144. According to PSO 58, Meritorious Service Entries (MSE) are sanctioned by

(A) Director General of Police

(B) Inspector General of Police

(C) Deputy Inspector General of Police
(D) Superintendent of Police

SLOPBTH Fresed Blevev gyenewt 58 @6 Ly LTI L $555 el u@eyser (MSE)

DUTEHGTTE JeOILOFSHLILIBILD ?
(A) smeuGID FMWELD @)UISES BT

(B) smeuevgienm Senevali Eﬁ
(C) smaucgemn FMenTS ST s

(D) smeueh &etssment]LLimeTT

145. Section 127 Cr.P.C. deals with which of the following ?

(A) Alteration in allowances

(B) Conditional order for removal of nuisance
(C) Discharge from custody

(D) Declaration by sureties

Cr.P.C. L99ay 127 Epaumauaraupmled eTersLs LD CININIQLAETR

(A) gauanmibgs Cgnengeil LOAHPILIGHLOSEED

(B) Qsrevemavedw BéGaSHETET BLBS®TS SL_L_eneT

(C) smeuadled @Q)ppa allBadlliLy
(D) gmbeigmigentey QeFuiwiL@b aflerbLiens




146.

147.

148.

(A) 238 (B) 239
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Match the following.

I) Desertion a) PSO 95

IT) Censure b) PSO 97
IIT) Deferred Punishment c¢) PSO 90
IV) Suspension d) PSO 92

I II 11T v

(A) a b c d @&E‘

B) d b ¢ a Bl

(€) a d b ¢

(D) a c b d

OINGELETED

) welleow ol GLr@se a) &m.mb.g,. 95
II) sewr_ewib b) sm./bl.2,. 97

II) gerefl eweuss sewr_emeaiser ¢) .kl 90
IV) uenfluflent_BosLb d) sm./b.2,. 92
I II I v

(A) a b c d
(B) d b c a -
(C) a d b c F@‘%ﬁ
(D) a c b d

Negligent Act likely to spread infection of disease dangerous to life is punishable under
which Section of IPC ?

(A) Sec. 268 IPC (B) Sec. 269 IPC

(C) Sec. 270 IPC (D) Sec.2711IPC

2 &G Yussner Grrevw CrswISE CSTHML LFeud OFLIwdsm g w
QFl e wner CFwelses @QBHw s _emerd s g@er eriiffaler &ip
ST SSLILIL_& FalQUSTGHLD ?

(A) 9fe) 268 @).5.5. (B) 9fey269 @).5.4.

(©) 9Mey270 @).5.4. (D) ey 271 @).5.4.

Discharge of accused in warrant cases triable by Magistrate is dealt under Section
of Cr.P.C.
(A) 238 (B) 239 (C) 240 (D) 241

boggimw pHleugTed aflFmgenent QFlissmigw apsHed GDD FTL L LUl L LT
Cr.P.C. L9fay &1 LIy GODIFFTL 1960 BhG 9B eNEHeTLD.
(C) 240 (D) 241




"

149. Statement I : Failure to keep election accounts — Sec. 171 — I IPC.

150.

151.

S -40-
;_-" .

Statement II ; Undue influence at elections — Sec. 171 — B IPC.
(A) 1 only correct (B) II only correct
(C) I and II correct (D) Iand Il wrong

auns@unb | : Gsise sens@Gsmar mausss saungad LM 171 -2 @).5.4.
aurs@uih 11 : Gaiseaaie 815 (papuisd Cedairdamat LILGTLBSSIS® Liile)]
171 - <, @).5.4-

(A) 1 oL @b &M (B) 1 toL" b &M E5E

(C) 1 opmith 11 &M (D) 1 wpmyb 11 seumy E%ﬁ

Which of the following category of Police Personnel is covered under Tamil Nadu Police
Subordinate Services (D & A) Rules, 1955 ?

(A) GrlI PC, GrIPC/Naik, HC/Havildar

(B) Sub Inspectors of Police

(C) Inspector of Police

(D) All of the above

BipssarTL_auiseley, SOPBTER FTiEle STAIGH LIGHSAET(GQUpEIES LLDDILD
Guoepempui®) aBser, 1955 8Lp au@pLd STeUch JpofBrseT wralr ?

(A) @uesL_nmib Blenew STaUGVI, (LS BlEDGV HTEUGT/BTLIS, SENGGHLD SMeUGVIT/

e aIlevg T
(B) smeuch 2. sail pUieumenTt
(C) smauch gy uieumeni EEE
(D) GopGlemeires 2jenera(hLb OF

A public servant was sustained grievous hurt in an assault and prevented from discharging
his duties. Which of the following IPC Section will attract ?

(A) Sec. 326 and 506 11 (B) Sec. 353 and 325

(C) Sec. 325 and 506 11 (D) Sec. 333

@ Qg senfluit serg uellaw Qaiu wpgumosd SOSSILLG), STSsLLL G
smuLe LRt Bbs @GHoLnes) @).5.5.61 bz s L1 faller &p LFle) GlFuww
(piguytb ?

(A) 19fey 326 wdmpiib 506 11 (B) 19May 353 Lopmith 325

(C) My 325 wpmitb 506 11 (D) 9y 333
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152. Match the following.

153.

I) BSF
IT) CISF
III) CRPF
IV) CSG

(A) b a
(B) a b
(C) d

(D) b a

a) Guarding vital installation
b) Guarding the borders

¢) Guarding the coast

d) Counter Internal Insurgency

I v
[E]#E =]
c d ﬁ%
d C
b a
d C

Grpsevr_aupenp ClLmmss)s.

I) BSF
IT) CISF
IIT) CRPF
IV) CSG

I I

(A)
B)
©)
(D)

Statement I :

S o p O
[ B e T . ]

Statement 11 :

a) uUnGISTOL (PSEWSSaLb umiips @)L misefer STLiL]
b) erevemev LINFSTLILY

¢) sL_Cevny Lngismiyy

d) e amrl (® eriEfew 618)i6lsmETaTE

m  Iv

[= TR = i = P o]
0O P o A

g‘%

When the investigation cannot be completed within 24 hours, the magistrate
may detain a person arrested for a term not exceeding 15 days.

In case of Executive Magistrate, he is empowered to detain the arrested
person for a term not exceeding 10 days.

(A) I only correct (B) II only correct
(C) Iand II correct (D) Iand II wrong

aursGunb 1 :

eunsGuwid I1:

e aflFmgenesteniu 24 oewst] CrISSH @6 (Liyés Ly wnrs Gung,
B8ss1op BReT &g QFluliul L Uy 15 Bl se5éE ST
&MU L L) gy enent LIpLIIGseLb.

Blieunsggieom pReunns @) wéEL Cungl, eseg CFiuiiul L Ly
10 prs@pé& LOSTD6) STeuch Jyenl L] yement LIDLILI&seLb.

(A) I o ®b &M (B) I o @b &l
(©) I wpayib IT & (D) I womid 11 gaumy




2
K |

154.

155.

156.
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As per PSO 353, an escort incharge of prisoners, halting at station, who is the officer
responsible to provide sufficient police strength for escort halt of station ?

(A) Sub Inspector or Station House Officer

(B) Station Writer

(C) Station Sentry

(D) Circle Inspector

&T.[6).24. 353 uieir LIy sGser Quipiievet appisCsTamBeTeT @, euLfl smaueh
LiewL_wieng) auuiled @b e BlavawsbBed gL GLing) 61bs SSTh auLf) smeae)
LenL_UNeT(5SE HUPWILDTET SIS STAUMBIEIW FTOUITHGT ILOISHIAUSDSGL!
QummyLiimert yeumi ?

(A) 2.sall gy uieurent Seveg HTaicd Blavew s

(B) flevevw ertpssi
(C) Blewevw smeusvmer
(D) eu’i yuieumert

(=]
=

According to Sec. 94 of IPC, except nothing is an offence which is done by a
person who is compelled to do it by threat of death to that person.

(A) Murder

(B) Offences against state punishable with death

(C) Aand B both

(D) None of the above

@).5.4. LMy Y46t LY. 2 a9 R CFWeV IYFHNISSDSETTE RHOITS
s L_muliL®$8 Qv aeussTe, ésL L mugdermed et 0lFlig GlFwe egLb
&DDLOGGV.

(A) Gsrenev

(B) LOTGwT SGOTL_GOGT GULPEISS Talglll IT5HE0)SEHTTET &DDEISET
(C) A wpmib B @uessr@b e
(D) Guop Gleneiia 61510 LHlevenev ‘EI%

As per PSO 591, the original postmortem certificates has to be sent by the Medical Officer
to whom ?

(A) Investigation Officer (B) Station House Officer

(C) Magistrate (D) Station Writer

&m.f). 9. e1avr 591 6ir Ly LOBSSIM S, LICIH LNGFTSEET 9jF60 FNGHTHemeoT
wnms@ eIl Gouewr(hLb

(A) yevessr aflgngemesst G s (B) Aleweow QumiL) S smi

(C) Gppaiwe gieop BRI (D) plewevws er(pssit
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157. The power to compel restoration of abducted females is dealt under Section of Cr.P.C.

158.

159.

(A) 96 (B) 97 (C) 98 (D) 99

Cr.P.C. L9Mey 67 B1p SL S L CluesTsamard F(HLbL @LILIGHL LILIGNSS
SL_LMULILIBSSHIUSDEHTET HYPSTILD ULpBISLIIL (HETeNS).
(A) 96 (B) 97 (C) 98 (D) 99

In warrant cases triable by Sessions Judge, if the Presiding Officer considers that there is no
sufficient ground for framing charges against accused, he may order for

(A) Acquittal Judgement (B) Discharge Order !EL =

(C) Conviction Judgement (D) None of the above E]Fiﬁ

g wimenenT aulpdGHailed ILoiey FHTD FHLS GDDLd FT L 11 QUDDaI[HSHE
1@ s Gungonest sTuBIseT @)evevns CLITE eur SLhSEHIL 61hS 2 SSIMa
ALifséseomb ?

(A) al@senev Sty (B) al@ailiiy g emaewnt

(C) sevwr_anewt Sl (D) Guopsesst_ e1516yLblebemnev

Match the following.

I) PSO 597 a) Accused confession leading to discovery of any fact
II) PSO 598 b) Questioning of accused person
I1) PSO 599 c) Test identification parade
IV) PSO 600 d) Recording the confession of the accused

I II I 1A%

(A b d a ¢

B b a d L)

© a d b ¢ =

(D) a c b d

QLIT(555i%.

) smb.2. 597 a) OouI955555% @@ alFwudans ST &% w eT@)MudlesT

PLILSRIT

1) &m.mb.2y,. 598 b) @owb em’ L ul L euisell_tb Cserall Gl _eb
) &b, 599 C) YL wrenth S (HLd Syewfleu@LiLy
IV) &m.f).,. 600 d) e1®@Mufeir LiLs6 2 empulenas LG ey ClFdige

I II ITI | AY

(A) b d a c

(B) b c a d

(C) a d b ¢

(D) a c b d




160. Abetment of suicide is an offence under Section of IPC.
(A) 305 (B) 306 (C) 307 (D) 308
Q).5.5. #1190y &1 B1p SHOIBTVSEG SIATBS GDOLOALD.
(A) 305 (B) 306 (©) 307 (D) 308

161. PSO __ deals with Co-operation between the District Police and Railway Police.
(A) PSO 451 (B) PSO 461 &
(C) PSO 471 (D) PSO 481 Ee
SM.[bl.Q. 6T Al L. STUHBSGL, @)BLILLILTDS &T6el6)(5dELb
@en_ulled @Q)BSGLD @dsimipLianrs Lps aleMsSpg).
(A) am.Bl.g. 451 (B) sm.mbl.9y. 461
©) am.pl.g,.471 (D) &m./.9. 481

162. When a women commits suicide by hanging herself within 7 years of marriage, the court
may presume that such suicide is abetted by her husband. This is explained in Section

of IEA.
(A) Section 112 A of [EA (B) Section 113 A of IEA
(C) Section 110 B of IEA (D) Section 111 A of IEA

@ OlLIavsT G (HLOGRTL TGS GTLPMEEST (B @5 S6T HNSHIL (B SPOIS TG CFUIg5) CmesT_med
Qb5 LogewILh FHeRTelTey Fiewg.aill LUl L g 6Tein) FHLOGTDLD 2JeILonesi&EeiTLb.

Q555 TP @BSW FTPw FL 1 _1b felled FEmLiul (Bereng).
(A) 9fley 112 =y (B) 9fay 113 =y
(C) 9May 110 = (D) 9Aay 111 L]

=

163. As per Sec. 77 of Cr.P.C., a warrant of arrest may be executed
(A) Only in the State where the warrant was issued
(B) At any place in India
(C) Only outside India
(D) None of the above

Cr.P.C. 9flay 77 &1 L1y, e LG wrenesTenit 6151 Bl (LPeDLIBGSGTLD.
(A) embs wrBlewsPed LpLI9ssLL’ L CsT 9bs LABWSBDGET L (Bib
(B) @pSwnaled e1ps @Q)LSPatb

(©) @pHwraliing GeuafllGu ol RLb

(D) Guopblenesren e1g1ayhlevame




164. As per PSO 748, which one of the following Officer having power to order the closure of a

History Sheet at any time ?

(A) Inspector of Police (B) Sub Inspector of Police

(C) Deputy Superintendent of Police (D) Superintendent of Police

&I1.16). gy ement e1eor 748 ()61 LIy GLpSagILD 6ThS HBSHMH augeTOMIS GBILIL IR
(History Sheet) gaimlenar 6i¢FLowsFHavih (LpLydg audbs HL1_emerull_eomLb

(A) smeueh gy uieumeTt (B) smaueh 2 gail gy uieumenri -
(C) smeueh genewr sewrsnessiiliLmernt (D) &meueh &evsrsmewniLiLimert Bl
165. StatementI : For every district, the Central Government shall appoint one or more

Additional Public Prosecutors.

Statement I : Special Public Prosecutors must have been in practice as an advocate for
not less than three years.

(A) Ionly correct (B) II only correct

(C) Tand II correct (D) Iand I wrong

aursGuib I : eeitleumm reul L SHH0seaT @6 vjevag SHE CodLL L s
GDDSSIDD Fn(HSM ULPSSPEHE®T Lo DFs [ElWLEELh.

aunsGunb Il: s @poigieop ApLiy eupsspleser HwbsEs @weui 6T
2 ETHEE55G G@PWTLOe aupdhsnhlesi GClsmfler BL S ulmss

Qouas(BLb.
(A) I b &M (B) II tiol" Db &l ZE‘
(©C) I oppyid 11 &M (D) I wopoyib 11 saumy

166. Solitary confinement is dealt under which Section of IPC ?
(A) Sec.72 (B) Sec. 73
(C) Sec. 84 (D) See. 75
saflews Neopls Py @).5.5. aler elbg FL 11 19NN pLiL Herens)
(A) Lifley 72 (B) 9y 73
(C) L9Mey 84 (D) 9fay 75




167. As per PSO , the information of arrest of government servant should be sent to

168.

169.

170.

his/her immediate Superior Officer followed by detailed report.

(A) PSO 623 (B) PSO 627
(C) PSO 628 (D) PSO 626
SLODBI®R ST FleHew b6 6uT @) LI @5 YTSFTEISLI LIGSTITeTenT 55

OFiis s euler 4GS Goe Klaew Iyaa@rsE o060 ClsMalsg e
alfleuner ymléems jerin Geues@ib ?

(A) &m.8.2. 623 (B) &m. /.. 627 Eﬁ%

(C) &m.ibl.g,. 628 (D) sm.Bl.y. 626

Commitment of cases triable by court of Session shall be done by the magistrate under Section

of Cr.P.C.

(A) 209 (B) 207 (C) 208 (D) 314

Loie] BRLOGTDSSTED BLSSILGILD aupdGSE@an JBFHLGDSEDS S F5SSI™D
pOeugTed et Geuaw(®ib ereitp pew_(Lpewp, Cr.P.C. L9fafsv
FapLILIL (H6IT6TS).

(A) 209 (B) 207 (C) 208 (D) 314
Power to seize offensive weapon is given under Sec. of Cr.P.C.

(A) 51 (B) 52 (C).53 (D) 54

8r1@ alleenalléEGLd W SBISen wsliLpnaIFHasTeT yFsTrd &nlss Cr.P.C.
Liiley ENAIETR

El#[E
(A) 51 (B) 52 (C) 53 (D) 54 'ﬁ%@

According to Section 303 IPC, whoever being under sentence of imprisonment for life,
commits murder shall be punished with

(A) Rigorous Imprisonment (B) Solitary Confinement

(C) Death Sentence (D) Simple six month imprisonment

@QBHw sam_mers s ey 303 ey, Qi srewd Hep FeTL el
@ BS&LCLTg Csrewew CQFiiws Fmiguw 61eu6lTmT@H6 L & GUITL_ G GOT
aNBsg sevsiigdaliL. Gauer(pLb.

(A) sBBISTI Fenn HevTL_ 6068 (B) safleniod feom HavorL_ene

(C) ogewr everL_coesr (D) gngmyent gumy oG Feom S6vTL_HET
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JOINT RECRUITMENT -2023

SI — POLICE DEPARTMENT WRITTEN EXAMINATION

FINAL ANSWER KEY

QUESTION BOOKLET SERIES

Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
1 A/B/C C B D
2 D A C C
3 D B D D
4 C B C D
5 B B B C
6 B B A B
7 C A A B
8 D A B C
9 B B D C
10 C D C A
11 A C D B
12 A A B B
13 B A A B
14 D D B B
15 C A/B/C C A
16 D C D A
17 B D C D
18 A B A A/B/C
19 B C B D

20 C D B B




D-SERIES
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Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
46 A B A A
47 A B B B
48 B A B A
49 B A B A
50 B B D C/D
51 D D B D
52 A B B A/B/C/D
53 B D B C
54 B B C C
55 B D D D
56 D A/B/C/D B A
57 | A/B/C/D | A/B/C/D D A/D
58 C C B D
59 C D D D
60 D B A/B/C/D A
61 A D A/B/C/D B
62 A/D A C B
63 D A D B
64 A D B A
65 C C D D
66 C D A C
67 B C A A
68 B A C D
69 B C C B
70 C B D C




Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
71 D D C A
72 B A A D
73 D B C B
74 B B B C
75 D B D A
76 | A/B/C/D D A C
77 | A/B/C/D | A/B/C/D B C
78 C C B B
79 D C B B
80 B D D B
81 D A A/B/C/D C
82 A A/D C D
83 D D C B
84 A B D D
85 e B A B
86 D B A/D D
87 C C D A/B/C/D
88 A A D A/B/C/D
89 C € A C
90 B @ G D
91 D D A B
92 € D D €
93 | A/B/C/D A D A
94 B A D C
95 B C C B




Q.No.| A-SERIES B-SERIES C-SERIES D-SERIES
96 C C B B
97 A/B/C/D C B A
98 A B B C
99 B A A All Correct
100 C B B C
101 A B A D
102 D B D B
103 D B C All Correct
104 D D B B
105 C D C C
106 B B D A
107 B C B D
108 B A All Correct C
109 A B B B
110 B C C C
111 B B D B
112 C D D A
113 A C A D
114 C C A All Correct
115 B D C A
116 B C B C
117 A B B B
118 C A B B
119 | All Correct B D A
120 C A D D




Q.No.| A-SERIES B-SERIES C-SERIES D-SERIES
121 A B B B
122 D A C B
123 C D A B
124 B All Correct C D
125 C A B D
126 D C C B
127 B B C C
128 | All Correct B B A
129 B A A B
130 C D B C
131 B A B D
S2 D D A D
133 C C C A
134 C B All Correct A
135 D C C C

136 C D B C
137 B B C C
138 A All Correct A B
139 B B B A
140 A C C B
141 B B B D
142 A C D C
143 D A C A/B/C/D
144 | All Correct C C B
145 A B D B




Q.No.| A-SERIES B-SERIES C-SERIES D-SERIES
146 C B B C
147 B A A A/B/C/D
148 B C D A
149 A All Correct | All Correct B
150 D C A C
Sl D D C A
152 D C B D
153 A A/B/C/D A D
154 A B B D
155 C B A C
156 C C D B
157 C A/B/C/D C B
158 B A A/B/C/D B
159 A B B A
160 B C B B
161 B A C B
162 B D A/B/C/D D
163 B D A C
164 D D B C
165 D C C D
166 B B C C
167 C B B A
168 A B B B
169 B A A A
170 C B D B




